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1   Background
During RAN4#82bis meeting, WF R4-1704152[1] was approved, simulation results for those agreed simulation cases were provided by interesting companies. As per the observation on those simulation results, some open issues are listed as shown below and further discussion is needed.
· Test metric for performance requirements 

· Option 1: SINR at 85% of maximum throughput of each individual intra-cell UE.

· Option 2: SINR at 85% of maximum sum throughput of all the intra-cell UEs.

· Option 3: SINR at 85% of maximum throughput of anyone of weakest intra-cell UE.

· Other options are not precluded.

· Test cases down selection 
In this contribution, we give our views about those open issues.

2   Discussion

2.1   Test metric
As per the WF[1], different test metric options are listed. As we all know, this BS IC WI is trying to define BS performance requirements with CW IC reference receiver. From BS perspective, it is important to improve the UL total throughput and not just focus on limited any individual UEs to ensure the whole network performance. 
There are two kinds of cases with equal and unequal SNR setting. For cases with equal SNR, as per the simulation results in [2], there is very similar gain acquired among co-scheduled UEs (UE1 v.s. UE2; UE1 v.s. UE2 v.s. UE3 v.s. UE4). In such case, option 1 and option 2 are equivalent, the sum of maximum throughput of each individual intra-cell UE is almost equal to the maximum sum throughput of all intra-cell UEs; For cases with unequal SNR, UE1 and UE3 with lower SNR have much higher gain than UE2 and UE4 with higher SNR. From previous discussions, we can know there are different implementations about the interference cancellation during each iteration of CW IC: one possible implementation method is that BS should properly decide the order of UEs for decoding, i.e., which UE(s) are to be decoded at first, and which UE(s) could gain the benefits from IC of other UE(s), especially under unequal SNR condition, when the power of intra-cell interference UEs are stronger than that of target UE, BS is easier to detect and cancel them; other possible implementation method is that BS parallel decodes all co-scheduled UEs. Thus individual UE may have different gain under different implementation method, it is hard to compare the maximum throughput of each individual intra-cell UE, also it constrains BS interference cancellation implementation to a certain extent, as a results maybe it will excessively emphasize the individual UE performance not a whole network performance, it is technically unreasonable.
Proposal 1: Use SINR at 85% of maximum sum throughput of all the intra-cell UEs as test metric, i.e. Option 2.
2.2   Test case down selection
Total 22 cases were studied and corresponding simulations results were provided by interesting companies. Down selection is needed for the final performance requirements definition targeting for the corresponding WI.
It is realistic that UEs with equal SNR or a certain unequal SNR range are scheduled together, so it is reasonable to select cases with both equal and unequal SNR. It was agreed that other factors such as the 2Rx and 4Rx, different propagation conditions, low and high inter-cell interference should be covered in previous discussions, but it is still open that same or different MCS for unequal SNR cases, considering that we agreed to use the same MCS for the multiple co-scheduled UEs for equal SNR cases, if we also use the same MCS for the multiple co-scheduled UEs for unequal SNR cases, it will be easy to compare the gain of cases between equal SNR and unequal SNR. 
Proposal 2: Select the following test case set for the performance requirements definitions for CW IC.
	Case No. 
	Rx antenna 
	No. of UEs 
	Propagation condition (intra-cell UEs, inter-cell UEs) 
	MCS level (intra-cell UEs) 
	Inter-cell interference scenario 

	E1-c
	2 Rx
	2 UEs
	(EPA5 low, ETU5 low)
	MCS 21
	DIP1 = -0.43 dB

	E2-b1 
	4 Rx 
	4 UEs 
	(EVA70 low, ETU70 low) 
	MCS 15 
	DIP1 = -5.45 dB 

	U1-a1 
	2 Rx 
	2 UEs 
	(EPA5 low, ETU5 low) 
	MCS 10 
	DIP1 = -0.43 dB 

	U2-b1 
	4 Rx 
	4 UEs 
	(EVA70 low, ETU70 low) 
	MCS 15 
	DIP1 = -5.45 dB 


3   Proposals
In this contribution, we analyses the pros and cons of xxx, and our conclusions/proposals are:

Proposal 1: Use SINR at 85% of maximum sum throughput of all the intra-cell UEs as test metric, i.e. Option 2.
Proposal 2: Select the following test case set for the performance requirements definitions for CW IC.
	Case No. 
	Rx antenna 
	No. of UEs 
	Propagation condition (intra-cell UEs, inter-cell UEs) 
	MCS level (intra-cell UEs) 
	Inter-cell interference scenario 

	E1-c
	2 Rx
	2 UEs
	(EPA5 low, ETU5 low)
	MCS 21
	DIP1 = -0.43 dB

	E2-b1 
	4 Rx 
	4 UEs 
	(EVA70 low, ETU70 low) 
	MCS 15 
	DIP1 = -5.45 dB 

	U1-a1 
	2 Rx 
	2 UEs 
	(EPA5 low, ETU5 low) 
	MCS 10 
	DIP1 = -0.43 dB 

	U2-b1 
	4 Rx 
	4 UEs 
	(EVA70 low, ETU70 low) 
	MCS 15 
	DIP1 = -5.45 dB 
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